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e plot(d$pot, d$y, col = rep(c("blue", "red"), each = 5))
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> summary(glm(y ~ f, data = d, family = poisson))
L@
Coefficients:
Estimate Std. Error z value Pr(>|zl)
(Intercept) 1.8931 0.0549 34.49 < 2e-16
fT -0.4115 0.0869 -4.73 2.2e-06
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GLMM: 000000000000 0000

> library(glmmML)

> summary (glmmML(y ~ f, data = d, family = poisson,

+ cluster = id))
(@)
coef se(coef) z Pr(>|zl)
(Intercept) 1.351 0.192 7.05 1.8e-12
fT -0.737 0.280 -2.63 8.4e-03
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Ierations W= 1000 sanduicth = 0,149

mean sd 2.5% 25% 50% 75%  97.5% Rh
a 1.501 0.529 0.482 1.157 1.493 1.852 2.565 1.0
b -1.016 0.706 -2.436 -1.476 -0.993 -0.565 0.395 1.0
sigma[1] 1.020 0.114 0.822 0.939 1.014 1.089 1.265 1.0
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